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1. (3 Pts) Write a Lewis structure for OF2. 
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2. (2 Pts) What type of bonding is present in the compound Al(ClO3)3 (tonic, covalent, e 
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3. (4 Pts) Write a Lewis structure for the nitrate ion, NO3-, showing all non-zero formal charges. -NO!) 
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4. (2 Pts) Which species has the greater radius, an 1- ion or an I atom? Briefly explain your 

choice of answer. 
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5. (2 pts) Briefly explain why the atomic radius decreases within a period when moving from left to 
right. 

6. (4 Pts) Write a Lewis structure for SO3 that obeys the octet rule, showing all non-zero formal 
charges, and give the n ber of resonance structures for SO3 that obey the octet rule. 
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7. (2 Pts) The o owing successive ionization energies correspond to an element in the third row of 
the periodic table: Ii= 78·6.3 kJ/mol, h =1,580 kJ/mol, 13= 3,230 kJ/mol, /4 = 4,360 kJ/mol, ls= 
16,000, and 16 = 20,000 kJ/mol. Based on this pattern of ionization energies, identify the 

element. g, - J WY-np be-~ 1-t.; c:J Is- fS ~ 
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8. (2 Pts) Why is the Mg2+ ion smaller than P-, even though they are isoelectronic (have the same 
electron configuration)? 
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9. (4 Pts) Carbonic acid, H2CO3, is a weak acid that contributes to the taste and produces the carbon 
dioxide bubbles in all carbonated beverages. Write a Lewis structure for H2CO3, 
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1. (3 Pts) Write a Lewis structure for OF2. 
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2. (2 Pts) What type of bonding is present in the compound Al(Cl03)3 Oonic, covalent, e 
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3. (4 Pts) Write a Lewis structure for the nitrate ion, N03-, showing all non-zero formal charges. 
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4. (2 Pts) Which species has the greater radius, an r- ion or an I atom? Briefly explain your 
choice of answer. 
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5. (2 pts) Briefly explain why the atomic radius decreases within a period when moving from left to 
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7. (2 Pts) The o owing successive ionization energies correspond to an element in the third row of 
the periodic table: Ii= 78-6.3 kJ/mol, h =I ,580 kJ/mol, h= 3,230 kJ/mol, /4 = 4,360 kJ/mol, Is = 
16,000, and 16 = 20,000 kJ/mol. Based on this pattern of ionization energies, identify the 
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8. (2 Pts) Why is the Mg2+ ion smaller than P-, even though they are isoelectronic (have the same 
electron configuration)? L F- Q .L 
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9. (4 Pts) Carbonic acid, H2C03, is a weak acid that contributes to the taste and produces the carbon 
dioxide bubbles in all carbonated beverages. Write a Lewis structure for H2C03, 
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